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Question 1- What approximate value will come in place of question mark.
T |- T ToI@ o AT 9T STHTIA AT T ST

42.01 X 4.99 —vV?=1/324.11 x 10.01 + 5.03

—I: 8 X10+5
A. 025

—JX=1R§-20(30 B.512

=25 C.525
D.650

(\H J;(ZS)’L E. 490
DES 6‘25
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Question 2- What approximate value will come in place of question mark.

T 2- S Torg oh T O STTATHG A1 T ST |
7248 +8.12 — Q.12 xZB.lé

Job

A.400
“B7421
C.444
D.521
E. 391
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Question 3- What approximate value will come in place of question mark.
T 3- T T<I1g o T W ST HI T

x+23 98 x 35.01 + \/143 99 = 9498

1+ o?/x 38 _
, : A.15
/% “B25
30 :
A=25 C.35

D.45
E. 10
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Question 4- What approximate value will come in place of question mark.

T4 4- 99 15 ohw—lmsﬂmﬁ?rmwwqm‘? 6@3
19.03 x 12.11— 7>< 12.984

[IXIR - x0T = [65

A.6
B.11
C.4
D.1
—E79
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Question 5- What approximate value will come in place of question mark.
T 5- 9 1@ o T T ST I T ST .
9

%o0f[6.012 + 18.13% + 60.01| = x x(v/8.9

J+al+l5
g 36+ sy m}_ 1x .

3@ |Q B.95
=190 C.75
“D. 105
E. 135
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Question 6- A mixture o. an ontains 150% more water than

spirit. Iixture is replaced by 15 liter of @hen the resultant
mixture containg 33.33% spiritN\Find the initial quantity of spirit.

T 6- fege S AT o fHeror o f&Sye ot et 5 150% ik a8 3fe 63 oftex
forsroT &0t 15 Titet Rafie o giremiud fora Sirar & ar aieomsT fisror 1 33.33%

feafie 2| feafie it urifiyss amm 31« Sifs

W = (00 AR L
B.9L

o= w450 | C.8L
"%YQ D.48 L

E. None of these
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Question 7 anan do a piece of work 1n25 days while 2
man and 5 woman can do th¢ half of thé same work i. In how much

tim a can do the 80% of the same work.

T 7- 3 79 AN | HigeT Toh i 1 25 To-1 H o Fehd & STelioh 2 7o 3T S
ST ST Tl o ST AT ot 9 Toal § L Hehd €| 2 T8 3R 2 AT G0

o 80% YT ! Tohc T H T L Hehdl &7

ka = 6/@0)( W’M% &OX: n A.12.5 days

5 B. 44.5 days
E22.5 days
D.25.5 days

E. None of these
https://t.me/mathbytarunsirmepl




™ x5 = (Imigw)xI8 /&X225><£L_
(3 ﬂw) ) }gmw) (RU543K) 3

Mt 3qw= F6m+ qow

https://t.me/mathbytarunsirmepl



Question 8- @ 64

A. x>y
B. X<y
C. x <y
D. X =y
__E-—X=y or relation cant be established
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Question 9- A certain sum of money 1s invested at a certain rate of simple

interest frs which give@mm amount( If Rs 8000'1s invested

with same rate of simple interest f¢r 6 y&ars then find the interest?

T 9- Ueh T GTIRT Rl 6 I91 oh TolT ETEROT SITST <hl Ueh (A gt wx fHawT
feh 3T STTAT © TSTE8 40% TTerek TIRT 916 it 21 JfE 8000 FI Tl 6 NI o (oW
GTITOT SATST shl §HTT X oh 91 99T foram STrar 8, a1 o3t J1a shifs|

30 A.Rs 2400

B.Rs 3600
C.Rs 5000
—P.Rs 3200

E. None of these
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Question 11- On a certain sum of money with same rate of interest the
simple interest and compound interest for 2 years i@ an@
respectively . Find the rate percent per annum.

T 1 1- GH SATST 9L h 91 Teh T GRiRT o€ 2 S| o foTq |TeRor st
3R TTshalg SATST ShART: 400 T 3T 410 T & T I ST Jc=ra J1d

~ N
AR

A.10%
B.15%
5%
D. 8%
E. None of these

30

https://t.me/mathbytarunsirmepl




https://t.me/mathbytarunsirmepl



MISSION BANK-2024 er2xa =% (i

Question 12- The difference between simple interest and compound interest

on a certain sum of money for 3 years at 20% per annum 1s Rs 640. Find the
principal?

T 12- Teh [T €= 0 20% 9id oy shl S 3 [ 3h fo7 STEmor s1s 3717
ka5, SATST o s T STAX 640 T | L Ot ot qar a2

A.Rs 4000

B.Rs 3200

C.Rs 2300
D-Rs 5000

E. None of these

30
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Question 13- Two trains departed from station A and B towards each other at
9:00 AM with speed 70 Km/h and 90Km/h respectively. When faster train travel

100 Km more distance then find total distance travelled by trains.

T 13- 1 ¢ T A 3R B W Th-gHL =kl SR YETE 9:00 sTof shAST: 70 fohri/sier 31T
90 TerHt/EieT <Al T & JEAT LT 2 tel ot aifr 4 < aTedt ¢ 100 fehet Stferen i

T el €, 1 AT SR A i 715 et gt Tl shifofal

30 A.700 Km
NB—800 Km
C.900 Km

D. 1000 Km

E. None of these
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Question 14- The average cost price of two article 1s Rs 60. The first article

1s sold at 10% profit and other at 15% loss. There 1s overall Rs 10 profit.

Then find cost price of first article.
T 14- 31 FEISAT AT H1Ed 367 T 60 T 2| Taedl g hl 10% ATH T AR

T SR T 15% BT O STl STl 81 e fHedTeht 10 01 2T 14 BIaT 81 i
qEe! & 31 3T Hed JTd shifSIy|
30 A.Rs 70
B.Rs 110
C.Rs 10
PRs 112
E. None of these
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Question 15- The simple interest on a sum of Rs x at 4.5% per annum for 8

years i ind the amount received on same sum of at 10% per

annum for 2 years.

T 15- X 39 <hl U1 9T 8 91 oh fIT 4.5% Ui ¥ shi &0 | GTEROT AT 5400
U 2] 2 91 ok ToTT 10% Ifd s sht "\ TST 9€ 918 ST 31 hifSr

A.Rs 15150
B.Rs 12150
C.Rs 18150
D.Rs 21150

(B"None of these

'5X8§036‘z
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Question 16- Ajay spends 20% of his income in travelling. He spends 35%

of the remaining on food. Now he left with Rs 8400. If the income of Ram i1s

8% more than Ajay’s income then find income of Ram.
T 16- 3T YT 3T T 20% ATAT T T HLT 2| T8 I 3T 35% Ao @
AT 8| 3T T8 8400 T L AT TAT| JTS T hl 3T 1T T 3T T 8%

3feres ©, o TH sh 3T 14 hifsi|

A.Rs 22400

3
Hm Tk B.Rs 17500
C.Rs 18500
D.Rs 42400

E. None of these
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